GARANTI BELGESI VE
KULLANMA KILAVUZU

WARRANTY CERTIFICATE
AND USER MANUAL

el Jala g lasall 3alg

20.30.1022.02




13.07.01.108 x 8

13.03.01.021 x 24

M6x20 |
13.03.01.116 x 8

13.07.02.177 x 2

®

13.01.01.760 x 4

13.07.01.110 x 8

(%

13.02.01.017 x 28

@

13.07.01.076 x 4

13.03.01.019 x 2

13.01.01.248 x 4

18.00.2000.212 x 4

e

13.01.01. 111 x 4

M4x20 é

13.03.01.003 x 4

@

13.07.01.093 x 4

Ty,

13.07.01.609 x 2

13.07.01.016 x 1

13.07.02.189 x 1

13.03.01.027 x 2

M4x27 @

13.02.01.029 x 2

1T mm

[©

13.07.01.422 x 2

©

13.01.01.717 x 2

& T\ . ©

13.01.02.141 x 14

0

13.03.01.068 x 2

v

13.07.01.105 x 2

1,5 mm

[©

13.07.01.064 x 8

13.01.01.383 x 8

s &

13.01.01.775x 12

M4x30 ©
13.03.01.101 x 1

. @ ©

13.01.01.752 x 8 13.06.01.126 x 3

13.03.01.037 x 6

Ny

13.07.01.104 x 2

ol

13.07.01.565x 8

0

13.01.01.909 x 4

/ ~
[ QO

N
013
13.01.01.761 x 14

O

320
13.01.01.718 x 8

VAN

J




.

18.30.1022.110

18.30.1022.108

18.30.1022.133

:

18.30.1022.107

18.30.1022.109

18.30.1022.121

18.30.1022.132x 2

18.30.1022.120

18.30.1022.103 x 2 18.30.1022.116

18.30.1022.252 x 2 18.30.1022.112 x 1

<>

x 1 18.30.1022.114 x 1

18.30.1022.111 x 1

\

18.30.1022.105x 1

18.30.1022.127 x 1

18.30.1022.104 x 1

-~

18.30.1022.101 x 1

18.30.1022.102 x 1

18.30.1022.113 x 1

18.30.1022.126 x 1

18.30.1022.115 x 1

18.30.1022.125x 1

~

18.30.1022.251 x 2]

-3-



18.00.2

2q

M6X13
13.03.01.021 x 4

M6X13
13.03.01.021 x 4

18.30.1022.102

~
13.01.01.717 x 2

BN




18.30.1022.105

13.07.01.076 x 4

P

18.30.1022.112

18.30.1022.111

L~

18.30.1022.113 18.30.1022.115

18.30.1022.116

E 13.01.01.111 x 4
. :




18.30.1022.112

P>

18.30.1022.113—
&

18.30.1022.116

18.30.1022.115

13.01.01.383 x 8

18.30.1022.111

18.30.1022.114

e
: S




Mex2s T

13.03.01.027 x 2
LIb N

13.07.01.016 x 1

(TN Méx25

13.03.01

13.07.01.016 x 1




T mm
M6X20
13.07.01.064%8 13 03 01116 x 8 @

3 mm —
13.07.01.565x 8

3mm —
13.07.01.565x 8

T mm
13.07.01.064 x 8

M6X20 :
13.03.01.116 x 8




g

18.30.1022.125

18.30.1022.126

SH+—— 13.
— 13.

T~

)

~N

~
SS
~

M4x20
13.03.01.003 x 4

>\13.U1.01.9U9 X4

18.30.1022.251 x 1

18.30.1022.251 x 1

18.30.1022.130 x 1

02.01.017x 8
01.01.248 x 4



18.30.1022.125

18.30.1022.126

13.07.01.093 x4 &~

13.07.01.016 x 1

18.30.1022.126

18.30.1022.125

~0 13.07.01.093 x4

13.07.01.016 x 1

-10-






1.037x4” )

o

13.03.

18.30.1022.127

18.30.1022.127

-12-



‘ﬁ) o
X e

13.07.01.422 x 2 |

8 x2

(" 13.03.01.037 x 2
MbX45

18.30.1022.130

13.07.01.016 x 1

13.07.01.422 x 2

18.30.1022.130

13.07.01.016x 1
-13-



18.30.1022.104

18.30.1022.104

-14-



18.30.1022.132 x2

18.30.1022.132 x2




M4x27
13.02.01.029 x 2

13.06.01.126x2%

Mé4x27
13.02.01.029 x 2

13.06.01.126x2§

-16-



21.01.1244.00

-17-




18.30.1022.104

-18-



Mé6X20

13.03.01.068 x2

13.07.01.422 x 2

18.30.1022.130

18.30.1022.127

-19-



—13.01.01.760 x 4

-13.03.01.116 x4

@
> 13.07.01.093 x 4

(@
N

%)

AS\A\® X

13.07.01016x

18.30.1022.125

I

7
) E.m”!”“””
i e ]

18.30.1022.126

NG
.




18.30.1022.131

18.30.1022.132

-21-



~_ 13.07.01.105 X 2

13.07.01.104 X 2

18.30.1022.131
18.30.1022.132

-29-



18.30.1022.125

RE>113.02.01.017 x 8
SO~ —113.01.01.248 x 4

a 18.30.1022.126

18.30.1022.101/

0
0
0

- 2

M6X13
13.03.01.021 x 4

>

M6X13
13.03.01.021 x 4 ——
0 Qb
§@_
18.30.1022.102
- Qb‘/

M6X13

18.30.1022.101 13.03.01.021 x 4

>

M6X13
13.03.01.021T x 4
S
Gl | e
~ ||
18.30.1022.102
- Qb/

-23-



13.07.02.177 x 2

13.03.01.019 X2 N

(& 13.07.02.189

13.07.01.093 x 2 g%\

N
+ 13.07.01.016

“24-

®




|

M6X45
13.03.01.037 x 6

°
B
e

1

r\
Uo.ul. X [
~”7 ' 18.30.1022.125
Y e .
_ 18.30.1022.127 [
TN g -7
13.07.01.016 x //’
@ 18.30.1022.126
///‘ &,°



>

213
13.01.01.761 x 12

07 213
13.01.02.141 x 6 N 130101761@?@

020
13.01.01.718 x 2

020
13.01.01.718 x 6

@5
13.01.01.775x 12
Q
Ny
iy
13.01.02.141x 8

e

-26-



—

o
\

o)
\

O
\

©
/

(@)
/

(@)
/

—

—

|




-28-



